
X and O
Figure out what sequences of Xs and or Os each letter represents 
using the sequence or sequences given. The first puzzle ha been 
solved as an example. No two letters may share the same sequence.
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AB or CA

OXO A B C

ACD or DEBC

OOOXXO A

B

C

D

E

O X O O X

ACE

XXOOXO

DC or BEC

XOOXOX

OXO can be O (A) and XO (B) or it can be OX (C) and O (A)

A

B

C

D

E

AED or CBD

XXXOOX

BDE or EECCA

OXXXOO

A

B

C

D

E

ABEB

OOOOXX

DCB

OOXXOO

A

B

C

D

E

BAD

XOOXXO

DBA or BCEA

XOOXOO

CACE or AEAAB

OOXXOX

A

B

C

D

E

Fixed 4/27/09
Thanks Justin!
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BCC or DEDC

XOX?XX A

B

C

D

E

EADD or CDAF

XXOXXO

ABF or DBED

XXOOOX

A

B

C

D

E

GHIH or BCGG

OXOXXO

EAC or AGF or HDAC

XOXOOX

A

B

D

E

G
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F

ACED or AABC

XO?XOO

X

X H

C F I

XXO

OOO

O

X

OXO

OXO

X

X

AD
CB

AA
EDB

E
C

B
A

B

D
E

E
A

B
B

A

B

C

D

E

EHIE or IGDA

OXXOOX

FECE or DBA

OOXOXX

A

B

D

E

GX

X H

C F I

Remember to subscribe
via RSS, e-mail, or Twitter (@thegriddle)
to get an alert when new puzzles are posted!


